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JIEAT BN 4 OUT IN | GROSS | HDCP NET i & JIEAT SHE 4 OUT IN | GROSS | HDCP NET fifi %
1 47 |38/ H— B 37 35 72 0.0/ 72.0 51 {7 | #H 50 54 104 0.0(104.0
2 fr | b E— 34 39 73 0.0/ 73.0 52 i | #EH B — 56 50 106 0.0[106.0
3| EH BE 44 34 78 0.0/ 78.0 53 fir | Al K 55 51 106 0.0[106.0
4 A7 [EK BE 38 41 79 0.0/ 79.0 54 fir | Ki Fifd 54 52 106 0.0[106.0
5 L | B 1E 44 38 82 0.0/ 82.0 55 N\ | A [ 52 54 106 0.0/ 106.0
6 07 | )1 B 44 38 82 0.0/ 82.0 56 7 | FERE it 56 51 107 0.0[107.0
7 AL | KRB OE 43 40 83 0.0/ 83.0 57 {7 | HA HIEk 55 52 107 0.0[107.0
8 i | WA EiE 44 40 84 0.0| 84.0 58 fir | A —H| 49 58 107 0.0/107.0
9 fir [EM A 41 43 84 0.0| 84.0 59 fir | BTN A 58 50 108 0.0/ 108.0
10 fi7 | KA 32— 39 45 84 0.0/ 84.0 60 fir |#E¥ HEd 54 54 108 0.0|108.0
11 {7 | &% P 41 44 85 0.0| 85.0 61 i | A WA 51 57 108 0.0|108.0
12 fr |l f#A 46 40 86 0.0/ 86.0 62 A | (LAR JF 8 59 50 109 0.0[109.0
13 ff | 45 41 86 0.0/ 86.0 63 fif |fEEF ] 57 52 109 0.0[109.0
14 {7 | )1 45 41 86 0.0/ 86.0 64 ff | = JE3 54 55 109 0.0/ 109.0
15 A7 | %W ¥z 43 43 86 0.0/ 86.0 65 fif | A AT EIRER 51 59 110 0.0[110.0
16 {7 | Il 5% 43 44 87 0.0/ 87.0 66 fr | B % 57 54 111 0.0/ 111.0
17 A7 | A4 % 43 45 88 0.0/ 88.0 67 If | AR IEH 60 54 114 0.0(114.0
18 A |JII E %5 43 45 88 0.0/ 88.0 68 fr | #EH i 59 55 114 0.0(114.0
19 {7 | & H KA 42 46 88 0.0/ 88.0 69 fir | KiFE i 64 52 116 0.0(116.0
20 fr | AT & 41 47 88 0.0/ 88.0 70 i | AR AT 57 59 116 0.0(116.0
21 {7 |1 F HEk 48 41 89 0.0/ 89.0 71 07 | Mo 57 60 117 0.0[117.0
22 fr | 7R 3 46 44 90 0.0/ 90.0 72 4L | KR T 63 55 118 0.0/ 118.0
23 {7 | &5 H 3= KER 45 46 91 0.0/ 91.0 73 4L | R 54 65 119 0.0/ 119.0
24 L | KK HE— 43 49 92 0.0 92.0 74 | AH EE 58 64 122 0.0/122.0
25 fL [ Bk 46 47 93 0.0/ 93.0 75 F | PR JEBI 61 63 124 0.0[124.0
26 fir | FEF: 5 48 46 94 0.0 94.0 76 L | EAR HER 54 70 124 0.0]124.0
27 I | EHE —IB 47 47 94 0.0 94.0 77 0L | S R 68 60 128 0.0]128.0
28 fir | AR E 50 45 95 0.0| 95.0 78 {f | PR Bk 67 65 132 0.0]132.0
29 fif | KiG —pBE 46 49 95 0.0/ 95.0 79 I AR EE 66 66 132 0.0/ 132.0
30 A7 [FLlE RE 52 45 97 0.0 97.0 80 A | LJE EER 62 71 133 0.0]133.0
31 | B A M 49 48 97 0.0/ 97.0 81 fif |EA TEA 62 72 134 0.0/ 134.0
32 L |NH S 49 48 97 0.0/ 97.0 82 fi | Hiil Fnzs 71 65 136 0.0[136.0
33 AL | ARk R 48 49 97 0.0/ 97.0 83 i | (LB R 80 86 166 0.0[166.0
34 L | I B 45 52 97 0.0/ 97.0 N R [/ Fnfg 56 55 111 0.0/ 111.0
35 fir | BEJ5 EX 53 45 98 0.0/ 98.0 N R |[/NBp fdid 44 49 93 0.0/ 93.0
36 fir | RFT T 48 50 98 0.0/ 98.0

37 A | PEED 50 49 99 0.0/ 99.0

38 fir | (LR FEJA 46 53 99 0.0/ 99.0

39 fii | BAE IR 53 47 100 0.0[100.0

40 7 |f&1T BN 52 48 100 0.0[100.0

41 A7 | P 54 47 101 0.0[101.0

42 7 | fRA HEF 51 50 101 0.0/101.0

43 NL | FFP IE R 49 52 101 0.0/101.0

44 0L | f4 IEW 49 52 101 0.0[101.0

45 P | HEER G 48 53 101 0.0/101.0

46 {7 | [ElbR A 53 49 102 0.0[102.0

A7 {7 | P e —BR 50 52 102 0.0[102.0

48 {ir | M WL fli— 45 57 102 0.0/102.0

49 fr | hA HiE 49 54 103 0.0[103.0

50 fir |#4mH 5 55 49 104 0.0]/104.0




